DB BollNo. —............ ..

Proficiency Test, 2022-2023
Time 2 hrs. Class IX M. M. 100

Note : i) Method of Answering the Question :-
i) Darken the circle with sketch pen.

iii) Attempt either Hindi or Sanskrit.
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10.

1.

i v

13.

14.

15.

W@;@iw%li@%ﬁwaﬁqmmﬁﬁﬂm%?
a) fdqar=s NEISEICED c) THATE d) aRmmoTETEsh

o + oTEr@ ® | g ?

@) BEAEH b) SEENH c) BEdN d) SEnSTEH

ﬁmﬁ#?@aﬁﬁdﬁrasrqa:mqﬁ%?

a) @ HH p) A | c) ot @ d) Toa @
Wsﬁﬁﬁmtﬂﬂww‘ﬁﬁﬁaﬁqmm%?

a) IO b) Tk c) E IH d T
mem’qﬁaﬁﬁqmm%?

a) SfaeAird b) TIH c) wHertor  d) SE

ﬁmﬁmﬁaﬁw%ﬂmaﬁw%v
a) I&en  b) HEEET c)®® d) su

ﬁmﬁaéwm|aé%mﬂqtamwﬁaamﬁl
a) W b) ety
c) URAaTEEh d) TouraEs

mmwaﬂrqﬁm|m$mmmwﬁzfa@|
a) W& b) €gFd c) SFEEE d ®=
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:
1. T Iu=: Iesla | @ifha uew wiufa=sT: & 2
a) 3q +.¥T= b) 39 + =
c) 3T+ FE d 3T+ =
2. s galem: wafa | J@ited e dtufasseT: &: 2
a) ‘FL?J‘+3EZ{: b) qq‘+aa:
c) W + T d & + &=
3. ©H g 98Y: | d@ihaue Y Hod-
a) gaIH b) uwsf c) usfa d) usm:
4. YEH Y gl | J@ihaag e o
a = b) =& c) g=T d) =it
5. wea): et gaf< | 3fed ud faga -
a) IqH b) Tk c) =" d) =X
& - smma e o « w9 dfewfy | Reaeas qIa-
a) IR b) gasF= c) I d) 9=
’ L B e e o e | Rea-wm Stad 9 feraa-
a) [ b) THuT c) TH d) wHE
£ e T | Sfad e faa-
a) T b) T c) TR d T
9. o wifed oM smeaafa | T@ifeaue Ui 999 9 9Uh JUH Hoda-
a) IS + TH b) HE + TTL
c) WIS+ Tl d =+ T
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10. g e de el | dwiteaue Ui goE W g IES R
af W+ b) s + I
c) TR + Fal d) H o+ el
. Yk J9 9 + W + @9 Ul |
a) T b) WOEH - c) 9 d) woTesT
TR e e faeaerd e weta 1 Sfad e fee-
a) SoTH b) sTeteR c) eTeh! d) ST
13. el et | e sfed w© e -
a) el b) e c) wA= d) e
14. S qderdi @6 BE STOE e | fa e Sfad @€ feorga-
a) wfasfa b) wfasatd c) sfae d) sfasaf<a
15. T HE BERAT oooeernnneeennnns | oM sfad «@ foga-
a) veImH b) wefd c) e d) sfa
English
Read the following passage carefully :
Good HANDWRITING
1) There is hardly any school or other organisation which has
not acknowledged the importance of uniform. Uniforms which
are impersonal clothes, have quite different purposes. They
mark the part that people play in the drama of life,
distinguishing the soldier from the policeman, the air hostess
from the mere passengers, or the school prefect from rank
and file. They also serve .sometimes to glorify the wearer,
who stands out in public catching the eye.
IX - Proficiency Tesi -4
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Uniforms have also from the beginning of history been used
as a help to discipline. Men who dress alike can for that reason
be more easily led to behave alike, to act together and to
follow common purposes.

2) The value of school uniforms is more open to question. Some
teachers believe that it is a help in establishing a spirit of
unity of co-operation in a school. Uniform certainly makes
pupils look neater and tidier and enables them to be recognised
as members of the school outside its walls. Others argue that
school uniforms tend to suppress individuality to make pupils
too much alike, and to rob them of the opportunity of learning
how to dress themselves appropriately. Those who dislike
uniformity usually point to the extreme dullness and ugliness
of many school uniforms. But in reality, the main advantage
of uniform is to bridge up the gap between the poor and the
rich. No pupil in uniform need feel inferior because of his/her
clothes.

Write the most appropriate option :

16. UDIIOFMNS ooy ivsinnnsoniin
a) distinguish an educated from an uneducated one
b) make the people different :

c) distinguish people of different categories
d) cannot be discarded

17. History shows that uniforms .....................
a) discipline the people b) please the people
c) make the people feel superior d) make the people come together |

18. The phrase 'rank and file' refers to .................

a) extraordinary persons b) inferior persons

c) ordinary persons d) persons wear uniforms
19. Uniforms are disliked by those who are ..................

a) humble b) rich and arrogant

c) fashionable d) poor

Set II IX - Proficiency Test - 5
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20. The writer advocates school uniforms because ....................
a) they are approved by schools b) they make pupils humble
c) the cover up one's poverty d) they bridge up class distinction
2%. We usualiy .................... dinner at 9 p.m.
a) has b) have c) does not take d) are taking
207 The thiel ... .aviicians away before the police came.
a) ran - b) has run c) runs d) had run
23, KOBINIE AR i i Switzerland of India
a) the b) a c) Zero article d) one
24, Yesterday | saw ....... Sl one-eyed man.
a) an b) a ' ¢) the d) no article
B . o The dog jumped ............ the pond.
a) =t b) on c) into d) in
26. The child was kicked ............... death by the wild horse.
8l 1o b) with c) for d) about
27. Walk fast lest you ................. miss the train.
a) may b) might c) should d) can
28. DIanOSBRNE: i..i v cvinionns grow up to 20 metres
a) could b) can c) need Fo d) will
29. She is not attending classes. (Change into passive voice)
a) Classes are not attended by her.
b) Classes have not been attended by her.
c) Classes are not being attended by her.
d) Classes are being atténdgd by her.
30. What do you want ? ('Change into passive voice)
a) What are you wanted ? b) What is wanted by you ?
c) What has you been wanted ?  d] What is being wanted by you ?
SetII
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31. Choose the correctly spelt word :
a) sincerely b) sincerly c) sinceerly d) sincerily
¥ Choose the correctly spelt word :
a) Comijttment b) Committment
c) Commitment d) Comitment
5 The one who looks at the negative side of everything is known as .....
a) optimist b) philanthropist
c) pessimist : d) cosmpolitan
= OE Someone who is reserved and shy is called ..............
al Straight forward b) introvert
c) extrovert d) frank
<8 'To be on cloud nine' means ...............
a) to travel by train b) to fly in an aeroplane
c) to be extremely happy d) to be sad and dejected
36. Rearrange the following jumbled words to form a meaningful sentence
useful/camel/is/animal/desert/the/most/the/in/the
a) The camel is the animal most useful in the desert
b) The usefui most animal in the desert is the camel
c) The camel is the animal in the most useful desert
d). The camel is the most useful animal in the desert
37. The most suitable antonym for ‘conceal’ is .............
a) hide b) reveal c) secret d) none
38. Choose the-word having same meaning as 'lazy' ............
a) sluggish b) active c) inclustrious d) workaholic
39. She said to her friend, "Will you help me to hold my school bag ?"
(Change into indirect speech)
a) She told her friend if she would help her to hold his school bag
b)  She asked her friend if would she help her to hold her school bag?
c)  She asked her friend if she would help her to hold her school bag.
d) She asked her friend that she would help her to hold her school bag.
Set I
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40. The teacher said to the students, "Charity begins at home"

a) The teacher told the students that charity begins at home.

b) The teacher said to the students that charity begins at home.
c) The teacher told the students if charity begins.at home.

d) The teacher said to his students that charity began at home.

Maths

41. What will be the side of the cube whose surface are is 2400 cm? ?
@@Waﬁwmaﬁﬁqwr{@amszcmzé |
a) 10 cm b) 20 cm c) 2b cm d) 15 cm

42. What will be the factors of 49x% — 36 ?
49x? — 36 B TUFEEUS FAT T ?

a) (7 - 6) (7 - 6) b)  (7x + 6) (7x + 6)
‘e Ix + 0 (7x — 6) d) None of these
43 If 2 +§'—EE then y i :
. It 2y 3.=.3 -y, thenyls
5 26

y® AF WA @ie A 2y + 5 = g |

7 -7 3 "
a) 3 b) 5 0)7 d) B

44.  What will be the cube of 17
17 T °F T @ ?

a) 4923 b) 289 c) 4903 d) 4913
45. Bar graphs of grouped data are called .. n s

.a)  Histogram b) - Double Bar graph

c) Pie-chart d) Ogive
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Tifa SiFSl B TS A ..o FEed & |
a)  edtaR b) f-<=
c) ga f= d) dRUT =%
— 1 1
46. If you subtract E‘frdm a number and multiply the result by 2 you get
1 ;
3 what is number ?
: - 1 : 1 1
TR R feedt wem ¥ TeR R gRomH i - | 0 FA W o
o g @ A §@E Wid i
) s by > o | d)‘ ot
~ = 4 4
~ 47. Find (12.1 - 7.9) (12.1 + 7.9)
(12.1 - 7.9) (12.1 + 7.9) T =HitQ
a 8.4 b) 42 c) O d) 84
48. Find the greatest common factors of 3x%y3, 10x3y and 6x2y?z
3x%y?, 10x%y 3T 6x2y?z &1 W@ &g Wien foF@Us F1 €m ?
al . 3xy b) x2y? el x*y* - d) X’z :
49, What will be the uppér limit of class 30 - 40
Tl TS 30-40 T ITH WA F@T B2
a) 40 b) 30 c) 35 d) 10
50 A car takes 2 hrs to reach a destination by travelling at the speed of
- 60 km/h. How long will it take, when car travels at the speed of 80
km/h. S :
UF R TF F d% g€ § 60 km/h Fi 91 § It 2 €S FHT T
St 21 80 km/h Ht =T ¥ IH HR B Fha @Hg W
a) 1%h b) 3%h c) 5%h d) 7%h
Set 1T

IX - Proficiency Test - 9



DB

51,

L.

53.

54.

55.

56.

¥

Find the area of rhombus whose diagonals are 10 cm and 8.2 cm.

wu@mmmﬁmmﬁﬁaﬁﬁmmcmﬁ
8.2cm. & |

a) 82cm? b) 40 cm? c) 41cm? d) 80cm?

What will be the unit digit of the square of 3853.
3853 B a1 HT THE N 3iEH FA @AW ?

D b) 7 c) 3 d) 9

(x + 7y) (7x -y) = ?
a) 7x2 — 48xy + 7y? b) 7x% + 48xy — 7y?
c) 7x2 + 48xy + 7y? d) 7x% — y2 + 48xy

When a die is thrown, what is the probability of getting a number n
greater than 5 ?
quﬁaﬁ%mm%msﬁa@ﬁd@rqﬁmaﬂﬁaﬁqﬁa
w1 B2 |

5 2

. 1
a) 6 b) 6 c) 3 d) 1

The sum -of all the exterior angles of a hexagon is ................

-%ﬁw%wﬁvﬁaﬁmﬁwmwm 5

a) 540° b) 270° c) 360° d) 180°

Name the quadrilateral whose diagonals are perpendicular bisector
each other.

a) Rectangle b) Trapezium c) Kite d) Rhombus
ma@wﬂww,ﬁa@ﬁﬂw@wéﬁmi
a) A b) HEs c) gaT d) wEEgHs

How many numbers lie between squares of 25 and 26 ?

25 BT 26 ® Tl B g F Reedt wEd ¥
a) 52 b) 48 c) 40 d) 50

Set Il
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08.

59.

60.

61.

62.

63.

Find 34 x3y3z® + 51 xy?z®

34 x3y%z® + 51 xy?z® ¥ Hit@

a) - x2y b) 6 Xy c) gx2y2 d) gx3y3
R 3 3 3

A machine in a soft drink factory fills 840 bottles in six hours. How
many bottles will it fill in five hours ?

el diwe fEe B § UH WA 840 Saet 6 €S W WAl & | € HIA
5 g2 H fpat Siael S 2

a) 700 bottles b) 750 bottles

c) 800 bottles d) 850 bottles

How many sides does a regular polygon have, if the measure of an
interior angle is 60°.

T TS # el oqemd @nft At U =T WioT W1 A9 60° ® |
a) 6 B3 c) 4 d- 3

A godown is in form of a cuboid of measure 60m Xx 40m x 30m.
How many cuboidal boxes can be stored in it, if the volume of one
box is 0.8 m3.

U% TANER MW, e 319 60m x 40m x 30m ® A= fhan
FER e W@ o wHa ¢, aRk U o= @ I@ed 0.8 md # 2

a) 60,000 b) 90,000 c) 40,000 d) 50,000
What will be the cube root of 13824
13824 T O AT BN ?

a) 34 b) 14 & 0 d 44
s s on A
INna X . 7—6X_
Ox
=15 | x @ HF WA HQ
7—-6x
o - | o al 2
o -5 35 el 3

Set 11
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64.

65.

Which of the following is a perfect cube ?

frfofiad demet § @ W= @ wen g W= ¥ 2
510843, 212, 100

a) 510 ~h) 212 c) 100 d 343

J7.29 equal to (J7.29 T i)
a) 4.3 b) 13.3 c) 3.3 d) 2.3

66.

67.

68.

69.

Science

Whic'h of the following is an antibiotic ?

a) Sodium bicarbonate b) Streptomycein
¢)  Alcohol d) Yeast
frefefaa & @ ®F @ GSEEIEH 2 2

a) wifeEH qEHEHS b) EVeHEEEH

c) W d @HR

Which of the following is not a communicable disease ?

a) cholera b) cancer c) chickenpox ~d) malaria

Prfefiaa & @ W wh dud o ¥ 2
a) oW b) BT c) B "Wrar  d) HARaAr

The first antibiotic called pencillin was extracted from .............
a) A bacterium b) A protozoan
c) A fungus d) An alga

I A ool UdEElfes AT T AT e 3
a) Stam] b) WEsiteT c) THEHTAT d) 9=

Which of the following disease is not caused by viruses ?
a) Measeles b) Small pox c) Cholera d) Polio

“Set 11
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70.

71.

12

73.

74.

frafefiaa & @ $19 @ O e g0 @ g € 2
a) @EQ b) B =N c) &< d) aferat

Which of the following non-metal exists in the liquid state at room
temperature ?

a) Fluorine b) Chlorine c) Bromine d') lodine
frafefigd § @ B9 @ 19 ug TR B AOEE W G e § HeE €2
a) wARH b) TR c) S d) e
Which of the following is NOT a characteristic property of iron ?

a) Malleability b) Brittleness c) Ductility d) Sonorousness
frfafaa & @ #i9 @ w1 fafre o @ 2 2

a) T b) T c) T d) =R
Inoarbody. ... ... is present in the pigment of red blood cells
called 'haemoglobin’

a) Iron b) Silver c) Copper d) Calcium

TR WA AT AHE A (A HINTHIS B qUH
# HiE @ ¥ |

a) e b) =i c) @i d) sfeem
Which of the following metal is soft and can be easily cut with a knife?
a) Copper b) Sulphur c) Sodium d) Silicon

frafefes & @ ®19 @ ug = 2 3R W =W ¥ AWA | HET ST
THa T 2
a) e b) Tus c) |ifeaH d) faferp=

Two plane mirrors are set at right angles to each other. A coin is
placed in between these two plane mirrors. How many images of the
coin will be seen ?

N U b) 2 c) 3 d) infinite

& TGS <UUT UF TR A AR W WS B ¥ | = A gHae gdon
B d@w uw R @ S @ e & e wfafes a| & o

a O b) 2 ¢} 3 c) 3 A

Set 11
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4 %

70,

77.

78.

19,

What is the value of peristence of vision ?
e 1 g w1 TE w2
1 1 1 1

e)==

a) 12 b) 16 24 .d)ig

At the junction of the optic nerve and retina, there are no sensory
cells, so no vision is possible at that spot. This is called ...............

a) Dark spot b) Black spot

c) Blind spot d) None of these
aﬁﬁﬁﬁﬁﬂﬁtﬁ%@ﬁmaﬁéﬁéaﬁﬁwqﬁﬁi
sﬁ%{qwmmaﬁé'q&ﬁﬂaqﬁ% | S HET ST B evneeeeennes

a) T fsg b) wren &g

c) o fag d TH ¥ wE AW
Which part of the cell gives it shape ?

a) Lysosome b) Cell membrane
c) Mitochondria' d) Ribosomes

aﬁfﬁmwaﬁqmmmmﬁ%?

a) oA b) iR Tt

c)  HIEEIEhIgAl d) TsEEE

The thread like structures contained in nucleus are L AP
a) Nucleus '~ b) Cytoplasm

c) Nuclear membrane d) Chromosomes

aﬁﬁﬁﬁ%ﬁuﬁéﬁrﬁmﬁaﬁwm% .............
a) A b) =f¥ER == ‘c)awwr\%wfg?—vﬁ d) shEEH

Which part of the cell contains Qrganelles ?

a) Cytoplasm b) Cell membrane
c) Nucleoplasm d) Nucleus

S @ Brg W § T 8 € 2

a) I B b) =it fereett
c) —iFeTAEAsH d) -t

Set 11
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80. Which of the following is example of contact force ?
a) Magnetic force b)  Electrostatic force
c) Muscular force d)  Gravitational force
fp § ¥ @9 dus g 1 ST & 7 '
a) gaHE TA b) frE@ ==
c) Uvg s d) TEETEE A
81. Which of the following is the Sl unit of measuring pressure ?
a) Newton b) Pascal c) Joule d) None of the above
frr & @ ®F @ o Ao #W S| WE T2
a) =geA b) UREREA c) S d TH | *E 7@
82. The layer of air above earth is called .....................
a) Lithosphere b) Atmosphere
c) Hydrosphere d) Stratosphere
et B FAC TG B T e FeAdl & 2
a) & HSA b) agHSH
c)  ETESRERER d) wHaW Hew
83. The negatively charged electrode is called e
a) Anode b) Cathode c) Electrode d) Eiectrolyte
HUTHF AR TAFLE cooennnnnnnnnnn FHEeNl ¢ |
a) uE by Hads c) TS d) TS
84. Tin cans used for storing food, are made by electroplating of which of
the following metals ?
a) Carbon and Tin b) Chromium and Tin
c) Tin and iron d) Tin and silver
deE ® WeRwr @ fon IwE e o A B @ e Freffaa F @
fre ug @ TOFIERT § ST S € 2
&) wEA SR R . b) Witmm sk =
c) &= &k = d f&= &k =i
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8.

86.

87.

88.

89.

What is full form of LED ?

a) Light Emission Discharging b) Liquid Emitting Diode

c) Light Emitting Diode d) Liquic Emitting Discharging
LED =1 & ®F a1 @ ¢ 2 |

a) ueEl Seastd EEA b) I IcEstH A

c) UERT ScasiE SES d) e Scasie e

Which of the following metal is used in electroplating to make objects
appear shining ?

a) Iron b) Copper c) Chromium d)  Aluminium

ﬁm%{ﬁaﬁﬁﬁ%qu@wmﬁqa—ﬁﬁnﬁaqaﬁaﬁm
frm 3 fow fFam ST € 2

a) o b) |t c) e d) TegHiEH

Which animal can hear sounds of frequencies higher than 20,000 Hz

~a) Dogs b) Mouse c) Lion d) Human

aﬁwwa0,000Hzﬁma@‘ﬁaﬁmwm%?
a) & b) & c) I d) "=d

The characteristic of sound which depends upon its frequency
called........5iiass ;

a) Amplitude b) Wavelength

c) Pitch d) None of these

wfy Ft e v S g emgfa o Flk L SRS
a) @M , b) e A

c) F= d) =T ¥ ®E &

Which of the following instuments produce sound by vibrating string
a) Tabla b) Guitar c) Flute d) None of the

ﬁmfaf@ﬁﬁﬁaﬁamﬁaaﬁaﬁaéwmwﬁwm%;
a) qsel b) firer c) =gl d)=d & =g &

Set Il
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90. Which of the following is the unit of loudness ?
a) Decibel (dB) b) Metre (m)
c) Hertz (Hz) ‘ ‘d) Metre/second (m/s)
frr § @ *9 yeerar ® R 2 2
a) <2fa=e (dB) b)  #HieX (m)
c) & (Hz) d) FeX W |AFS (m/s)
G. K.
91. Lala Lajpat Rai was an active member of ..................
a) Brahmo Samaj b) Prarthana Samaj
c) Arya Samaj d) Ved Samaj
AT IT T oeeenennnn . ® uihg wa& o |
a W ST b) e ST
c) I™E §HE : d) & §HS
92. The struggle. of partition of Bengal came to be known as
a)  Khilafat Movement b) Swadeshi Movement
c) Salt Movement d)  Quit India Movement
s fove= % "@Ed oW .. ® H AT S e |
a) faomea stiEe= b) wERE I
c) TEE adeH d R SR e
93. Growing flower’s are identified under .................
a) Horticulture b)  Pisiculture
c)  Sericulture d) Viticulture
TgA GEN B I ..o ® ded B S |
a) SmEE b) vt weH
c) WiwemX d SR H Gt
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94.

95.

96.

97.

98.

Which of the following is @ secondary activity ?

a) coal mining industry b) Automobile industry
c) fishing d)  Agriculture
frfetfaa & § $ T <ferctreres it € ?

a) e @ SN ) SiemETEe e

c) T T d =W

<

The Dronacharya Award is associated with

a) Eminent Surgeons b) Famous Artists
c) Sports Coaches d) Expert Engineers
Sromrard QEERR HEEA ?

a) WA ®A b) WS FHEHR

c) Wor uwEs q) feiem SSAFE

‘What is the full form of 'APJ" in Dr. Kalam's name ?

a) Ahmed Panthwawala Jain b) Avul Pakir Jainulabdeen

c) Ali Ponnuswamy Jampiru d)  Akbar Panneer Jalant

~

'a.mﬂ%mﬁ‘APJ‘m@ww%?

a) sErE durEen S b) S TRt S
c) aqﬁqiq@amﬁsfnrﬁ“é d) e o L

Where is Elephanta Caves Located .......c.oceeee

a) Madurai b) Vizag ¢) Mumbai d) Bhopal
weider W T feog € 2
a) TR b) fastm c) HEE d) oA

The cases that require interpretation of the constitution are he:
e o

a) District Court b) High Court

c) Supreme Court d)  None of these

Set 11
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’F&quvﬁﬁﬁ%mﬁaﬁmaﬁmsﬁ% I g
e | # ST § )

a) e =™ b) S =EHE

c) walew =@ d T A wE T

99. The police force in the state is headed by e
a) Senior Superintendent of police b) Superintendent of police
c) Inspector general of police d) Director General of police
aoa QR WO WA oo 2 z fear S
) ofts g e b) uferE aTefter
o) i werREs d) ofe wErRE

100. Which of these is not a function of the Public Prosecutor ?

5 a) He represents the state in criminal offences
b) Presents all evidences and witness before the court
c). He investigates the crime
d He ensures that the case is clearly presented before the court
¥ e A S SL
a) agwmmﬁtmmqﬁﬁﬁ:ﬁm%{
b) ﬁaﬁ@rwﬁaﬁw%mwmﬁn
c) 9% Ay H SA HIA g |
d) ﬂWW%%W-W%WNWﬁW
feFan ST |
Set 11
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